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Ol 36% 7t QOLf, 7|5oHnt TSHRH= 242t 5.7%, 44% L2

O (®H| T 3HXH 664,279H = 634,618, 29,661H(4.5%) LA
Lf=Ql =9} H|E2 At HH Q=0 =2} HIZE2 &A= F7t

- (21=¢2 HIE E7h 13.0%(86,639%) = 13.7%(86,836Q), 0.7%p S 7t

O (dE) o] A7l Ax|ot, A2 ofdo]l o 2
23 234 90.6%, 08 9.4%
Q=0 HIE) HA(13.8%)> A (13.0%)

—~~

O (HBE) 20l o[t L=l B7I 1 2| BE HF Z4A70CH Ol 60CH, 50CH ZA 7)
- (23) 50CH(35.8%)>60CH(23.0%)>40LCH(21.2%)>30CH(10.8%)
- (21=¢2l H[E) 30CH(25.7%)>20C O S5H(19.2%)>40LH (14.5%)>50CH(12.2%)
O (F82 67l 23E) dE=S31 HEQARN 7t LIHX| HBHAM BF
A2 HIA 2 H)
- (X)) BEQ5(583%)>HETS(15.9%)> Hi2H5(10.6%)> E2-E(9.5%)
- (=2 HIB) BTE(33.6%)>HE=3(29.9%)> 2.5 215(11.6%) > HI2H5(11.5%)

O (K|dd) oM F7t LIHX| 2 X|HoA Z2MSB, HF, MY 42 #H)
- (BE) F71(20.7%)> ME2(17.0%) > £ 2H6.2%) > 21 M (6.0%)
- (=9l HIE) M2(26.8%)>437((18.9%)>MZ(15.4%)> 1M (11.0%)
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2. EIXZH LSH S
O ‘828 W.e=Q8 mSHX} SZ(203E Cit] 21.38 Hah

- (HH) 6642798 = 634,618, 29,661H(4.5%) &4, =0l 8 HF ZHa,

el=el A HF 25 Ft

- (=0l H|F 37 13.0% = 13.7%, 0.7%p =7}
(W= ZA) 577,640 = 547,7829H, 29,858 ZtA 52% A
- (2=¢2l 371 86,6398 = 86,836, 197%I =7t 02% =7}
. (ngtlad |;||j|_) I—I-A'lol 7I-_+_7|. E_IH'_I‘, 7I-_Jt§-2 ():|k|()| E.

Q=9I HIE H4(13.8)> 04 (13.0%)

- (&%h 599,119(90.2%) = 574,6778(90.6%), 24,442(4.1%) &, 0.4%p S7t

(@=¢Ql HE 37hH 13.1% = 13.8% 0.7%p =7t
(=2l Zt2) 520,452H = 495,648, 24,804 Z2, 48% ZAa
(@=2l 371 78,667F = 79,029F, 362 7, 0.5% S}

- (04X} 65,160 (9.8%) = 59,941H(9.4%), 5219 (8.0%) Z2, 04%p AL

(9|__,—110| HES 57hH 122% = 13.0%, 0.8%p 57t
Ol Z2) 57,188 = 52,134%, 5054 Z4, 88% U4
: 9|=‘110_| Za) 7972 = 7,807%, 1658 Z4, 21% Lh

<38 2> d4¥ L o=l n|ZN X} ZSZ (203 CHH| '21.3 H3Z}h

5,000 20
197 362
-29,858 - 00
-5,000
L 2.0
-10,000
-15,000 L 4.0
-20,000
o1 a0
-25,000
30,000 MA 7| Oy L A - 8.0
o BN 57| b BL TLE
-35,000 , , -8.8 = -10.0
() ol Q=9 TEL CEX L=l A= | (%)
b | = ol
T O3HXE 234D SOZ oY) FE £HE £ U

Az SAE, HEZEASHE




<H 4> 828 UW.=UE oSHX SH S&(20.3 CiH| 21.3 H})

o 2020.3 2021.3 e SJ| el 2
TE Gma@)| a0k |[0@a@)] T4 | 0@ | s2E%)
H 664,279 100.0 100.0| 634,618 100.0 100.0 -29,661 -4.5
& A =ol 577,640 87.0 87.0| 547,782 86.3 86.3 -29,858 -5.2
=0l 86,639 13.0 13.0 86,836 13.7 13.7 197 0.2
H 599,119 90.2 100.0| 574,677 90.6 100.0 —24,442 -4.1
=X | L=l 520,452 78.3 86.9| 495,648 78.1 86.2 -24,804 -4.8
e|=0l 78,667 11.8 13.1 79,029 12.5 13.8 362 0.5
Al 65,160 9.8 100.0| 59,941 9.4 100.0 -5,219 -8.0
oX | LH=¢Ql 57,188 8.6 87.8] 52,134 8.2 87.0 -5,054 -8.8
2/=0l 7,972 1.2 12.2 7,807 1.2 13.0 -165 -2.1

F . IBHASE 22470 SO s £ +¥Y & AS
A& HM22ABH S DB

O e W.eloly TZHXA S2U(2039 Tyl 2138 Hh

- (HH]) 664,2798 = 634,618F, 29,661H4.5%) &4, =2l H HES &,

ol=¢l A HF 2% F7t

- (@=Q! HF 37h 13.0% = 13.7%, 0.7%p S}

(L= QI ZA) 577,640 = 547,7829, 29,858 Z4A, 52% ZA

- (21=Q 371 86,639% = 86,836Q, 197 Z7, 0.2% &7}

- (HFE H[w) 20cl ofot W=l Bvf 1 o] BE o ZHy7oc ofe eocl socH 24 )
(Y EIx) 500H(35.8%)>60CH(23.0%)>40CH(21.2%)>30CH(10.8%)
(Q|=Ql H|ZE) 30CH(25.7%)>20CH O|5}(19.2%)>40CH(14.5%)>50CH(12.2%)

- (20CH O|3}) 43,0478 (6.5%) = 43,651H(6.9%), 604 (1.4%) S}, 04%p 57}

- (1= HE B7h 18.8% = 19.2%, 04%p S7t
- (LH=rQl B7b) 34,940 = 35256%, 3168 37} 0.9% 37t
- (Q=Ql B7}) 8,107 = 8,395%, 288 Z7I, 3.6% Bt

- (30CH) 70,729 (10.6%) = 68,594 (10.8%), 2,135H(3.0%) &H=x, 0.2%p 57t

- (=2l HIE B7h 243% = 25.7%, 1.4%p S7t
- (Lh=92l Z+A) 53,568H = 50,955, 2,613FH ZA, 49% A
(= B57hH 17,161H = 17,639Y, 478H 37t 2.8% 57}

- (40CH) 138,900 (20.9%) = 134,322H(21.2%), 4,578H(3.3%) &=L, 0.3%p 7t

(=2 HE 37 13.6% = 14.5%, 0.9%p =7t
- (Lh=021 ZEA) 120,056 = 114,903, 5,153 ZtA, 43% 244
(=921 371 18,844% = 19,4199, 575 37}, 3.1% 57}




- (50cH) 238,355 (35.9%) = 227,009(35.8%), 11,346 (4.8%) &=, 0.1%p HA

S (QI=Ql HIE &7 121% = 12.2%, 0.1%p &7}
. (L=l ZA) 209,463F = 199,310F, 10,1539 Z4, 4
4.

2t 48% LA
(@)=l ZhA) 28,8928 = 27,699, 1,193 A 41% A

- (60CH) 156,00678(23.5%) = 146,023F(23.0%), 9,983E(6.4%) &HA, 0.5%p HA

(=2l HIF B7h 84% = 9.1%, 0.7%p 37t
(W= ZEA) 142,859 = 132,786QH, 10,073FH A, 7.1% LA
- (Q=Q Z7H 13,147YH = 13,237%, 90 =7} 0.7% S7}

- (70CH O|%4h) 17,2428 (2.6%) = 15,0198 (2.4%), 2,223 (129%) &L, 0.2%p AL

- (=2l HIE B7h 28% = 3.0%, 0.2%p B7t
(=2l Z) 16,754 = 14,5728, 2,182 L2, 13.0% L4
(QAFQl Z2) 488 = 4479, 41 Z4, 84% U2

<1 3> AP YoAFAE WBHX 5L HL(203 | 213 W

) 316 %8 2,613 478 153 575 90 - 4.0
-10,153 -1,193 -10,073 -2,182 -41 L
-2,000 —
0.9 0.0
- -2.0
-4,000

r -4.0
-6,000

r -6.0

-8,000 r 8.0

r -10.0
-10,000

-13.0
-12,000 -14.0
(m) | W= A= | U= Q= | U= o= | =e d=el | W= o= | W= QR | )
20CHO| 5} 3004 40ry 50LH 60LH 70CH O| At
L OBHAEE AFAD So2 Qg x5 £¥E £+ US

ot ojn

=
ne
Az SAYE, HEZEASH




<H 6> @4 L. oxQE u|3HXI 5Z s1%(20.3 CHH| '21.3 HZ}

Sy 2020.3 2021.3 &4 SI| iy 52
= olaX(@)|  TAHI(%)  [9AX®)]  FAHI(%)  |[AND)|ELE(%)
H 664,279 100.0 100.0| 634,618 100.0 100.0| —-29,661 -4.5
& =39l 577,640 87.0 87.0| 547,782 86.3 86.3] —-29,858 -5.2
2|=09l 86,639 13.0 13.0 86,836 13.7 13.7 197 0.2
o0tH Hl 43,047 6.5 100.0 43,651 6.9 100.0 604 1.4
0l =0l 34,940 5.3 81.2 35,256 56 80.8 316 0.9
2=l 8,107 1.2 18.8 8,395 1.3 19.2 288 3.6
H 70,729 10.6 100.0 68,594 10.8 100.0f -2,135 -3.0
3004 =0l 53,568 8.1 75.7 50,955 8.0 74.3 -2,613 -4.9
2|=09l 17,161 2.6 24.3 17,639 2.8 25.7 478 2.8
Al 138,900 20.9 100.0| 134,322 21.2 100.0| -4,578 -3.3
4004 =39l 120,056 18.1 86.4| 114,903 18.1 85.5 -5,153 -4.3
/=0l 18,844 2.8 13.6 19,419 3.1 14.5 575 3.1
Hl 238,355 35.9 100.0| 227,009 35.8 100.0| -11,346 -4.8
5004 =9l 209,463 31.5 87.9] 199,310 31.4 87.8| -10,153 -4.8
/=0l 28,892 4.3 12.1 27,699 4.4 12.2 -1,193 -4 1
Al 156,006 23.5 100.0| 146,023 23.0 100.0f -9,983 -6.4
60CH =0l 142,859 21.5 91.6| 132,786 20.9 90.9] -10,073 -7.1
2|=09l 13,147 2.0 8.4 13,237 2.1 9.1 90 0.7
7004 H 17,242 2.6 100.0 15,019 2.4 100.0| -2,223 -12.9
Ol AF t=eol 16,754 2.5 97.2 14,572 2.3 97.0 -2,182 -13.0
2|=0l 488 0.1 2.8 447 0.1 3.0 -41 -8.4

Z o OZHAEE 230D 502 Qs £33 £HEY 4 Qe

A2 . AMZ2XEH 32 DB
O 8 671 239 LWi-2|=QH n|SHX} 525203 CHH| 213 H3}
- (®A)) 438348FH = 429,9767H2), 8372H(1.9%) A W=¢Q % HF &HA

o|=¢l 3 HF F7t

- (@=¢l H|E 37h 15.3% = 16.4%, 0.9%p 57}

- (W=9l Za) 371,123 = 359,658%H, 11,4658 &L, 3.1% A

- (2I=Ql 71 67,225% = 70,318, 3,093 37} 4.6% 37t

- (H3E H) =30 BESURNM S7L HHX| BN mF ZA
(HH 2, HAH & #H)
(ABE 2I3) HEQIF(58.3%)>HESS(15.9%)>Hi2H5(10.6%) > H2S(9.5%)
(2Z0! H|E) H2E(33.6%)>HEZT(29.9%)> EEQ1E(11.6%)> HI2+S(11.5%)

- (EEQUR

o T

249,8328(57.0%) = 250,652(58.3%), 8208(0.3%) 57, 1.3%p 57|

(=l
(=l
(=l

HIE &7h 11.3% = 11.6%, 0.3%p 7t
Zha) 221,676% = 2216709, 6% A2, 0.0% Z
27} 28,156 = 28,9829, 826Y 7L, 29% &

AN

2) 20213 M HAH AT FSOAM =2 670 &EB0| XX|St= HE2 64.7%L




- (HE23) 66,605H(15.2%) = 68471H(15.9%), 1,866 (2.8%) S7I, 0.7%p 7}

=0 H|E 37} 28.0% = 29.8%, 1.8%p 37t
(= ZA) 47,987 = 47,973F, 1498 A, 0.0% LA
=0l =7H 18,618H = 20,4980, 1,880H =7} 10.1% =7}

[
ry

3) 42,2128 (9.6%) = 40,7218(9.5%), 1,491E(3.5%) &=, 0.1%p &L

(=2l HE 37t 31.0% = 33.6%, 2.6%p =7t
- (Lh=0Q1 ZEA) 29,144F = 27,0509, 2,094F ZA, 72% A
- (=2 B7h 13,068E = 13,671%, 603H 7} 4.6% 57}

- (HHRHD) 52,561H(12.0%) = 45560 (10.6%), 7,001H(13.3%) 24, 14%p L2

(2= HE 37h 101% = 11.5%, 1.4%p 57t
- (=0 Z) 472708 = 40,323, 6,947 U, 147% U2
(2P ) 52918 = 5237F, 549 ZA 10% Uh

- HIAIZ) 16,224E(3.7%) = 14,500 (3.4%), 1,724B(10.6%) &=, 0.3p% AL

(=9l H|E &) 75% = 7.4%, 0.1%p &4
- (Lh=921 ZEA) 15,0118 = 13,426, 1,585% ZbA, 10.6% A
- Q=01 ZEA) 1,2138 = 1,074H 139 A 115% A

- (ZHE) 10,914F(2.5%) = 10,072F(2.3%), 842B(7.7%) &=, 0.2%p AL

(=0l HE 371 8.1% = 8.5%, 0.4%p 57t
- (L=Q Z+4) 10,0358 = 9,216H, 819 ZtA, 8.2% ZA
- (2=l ZtA) 879H = 856Q, 23Q LA 26% LA

=)
=)

<38 5> F8 XTE We7UE nSHX SZ H&(20.3 CiH| '21.3 #Hal)
3,000 r 15.0%

2,000 10.1%

1,000

- 10.0%
826 /. aak 603

r 5.0%
-1,000

0
2,000 0.0%

-3,000 | 0%

-4,000

-5,000 F -10.0%

-6,000
r -15.0%

-8,000 -20.0%
| o,
S | y=e oz | Uz AR | YEe <= | HF eZel | R ool | Y oFel | *
EELE HE23 e e B ESE

o
X OBARSE 2FNUD 502 A £3 +FY 4 AUS

Xff': SAE, HEZ=ASEN




<E 8> F8 XFHE L 2=E mIHX FZ g (20.3 CHH| '21.3 H3}

_ 2020.3 2021.3 FEESIINEIES
T NEPNE) 2AHI(%) olia(m)  PAH|(%) Ol (H) | S 2 E(%)
2 438,348| 100.0]  100.0| 429,976/ 100.0] 100.0] -8,372 -1.9
&AH =eol 371,123 84.7 84.7| 359,658 83.6 83.6| —11,465 -3.1
/=0l 67,225 15.3 15.3] 70,318 16.4 16.4 3,093 4.6
2 249,832  57.0| 100.0| 250,652]  58.3] 100.0 820 0.3
g8 y=39 221,676 50.6 88.7| 221,670 51.6 88.4 -6 0.0
el=2el | 28,156 6.4 11.3| 28,982 6.7 11.6 826 2.9
2 66,605 15.2]  100.0] 68,471 15.9] 100.0] 1,866 2.8
E§ESE| U=9 47,987 10.9 72.0] 47,973 11.2 70.1 -14 0.0
2/=0l 18,618 4.2 28.0] 20,498 4.8 29.9 1,880 10.1
2 42,212 9.6/ 100.0] 40,721 9.5 100.0] -1,491 -3.5
323 =0l 29,144 6.6 69.0| 27,050 6.3 66.4 -2,094 -7.2
=0l 13,068 3.0 31.01 13,671 3.2 33.6 603 4.6
2 52,561 12.00  100.0] 45,560 10.6] 100.0] -7,001] -13.3
2= =0l 47,270 10.8 89.9| 40,323 9.4 88.5 -6,947 -14.7
e/=20l 5,291 1.2 10.1] 5,237 1.2 11.5 -54 -1.0
2 16,224 3.7 100.0] 14,500 3.4 100.0] -1,724] -10.6
HIAZ | W=2el 15,011 3.4 92.5| 13,426 3.1 92.6| -1,585| -10.6
2/=0l 1,213 0.3 7.5 1,074 0.2 7.4 -139 -11.5
2 10,914 2.5 100.0] 10,072 2.3 100.0 -842 -7.7
g =0l 10,035 2.3 91.9 9,216 2.1 91.5 -819 -8.2
2/=0l 879 0.2 8.1 856 0.2 8.5 -23 -2.6

F 1) LEMAEE AZAD 502 Qg =5 £HE £ YS

2) 2021.3 AHXf MH 2T oM F82 67 AEBO| AX|Sh= HE2 64.7%L.

Atz - HEZEXSH=| DB

O XYY W.9FE TIHX S2(2038 Y| 2138 #3h

- (MH) 664,279 = 634,618H, 29,661H(4.5%) LA, =9 % HE Za,

el=el A HF 2% F7t

- (@7 HF 37 13.0% = 13.7%, 0.7%p 37}

- (=9 ZA) 577,640H = 547,782, 29,858 ZA, 5.2% LA

- (2l=2 &7 86,639 = 86,836%H, 197H Z7I, 0.2% 57}t

- (RIYE H) ol A= FI7t HHX] 2E X[FoM ZHAMZB,
M, M 42 #)
(K98 EIx) B71(20.7%)> A =(17.0%)>F£H(6.2%)> 21 (6.0%)
(=2l HB) M=2(26.8%)>A7|(18.9%)> MZ(15.4%)> 2 (11.0%)

(ME) 116,083H(17.5%) = 107,667H(17.0%), 8416H(7.2%) ZL, 05%p UL
- (/=2 HE 375 26.1% = 26.8%, 0.7%p =7t
- (LH=Ql &) 85,8278 = 78,7649, 7,063 L, 82% HA
(=l ZA) 30,256 = 28,903, 1,353 ZA, 45% U




- (21H) 40,4908 (6.1%) = 38,343 (6.0%), 2,147H(5.3%) &L, 0.1%p &2

- (2= HF ZA) 11.2% = 11.0%, 0.2%p 22
(L= ZtA) 35975FH = 34,1449F, 1,831H A, 51% 44
- (Q=0l Z+A) 45158 = 4,1999H, 316FH ZA, 7.0% Z4A

- (A71) 144,560 (21.8%) = 131,269(20.7%), 13,2918 (9.2%) Zx, 1.1%p Hx

- (2=l HE 37h 17.5% = 18.9%, 14%p =7t
(=R ZA) 119,329T = 106,406, 12,923FH ZtA 10.8% ZA
C(QFQI ZEA) 25231H = 24,863F, 368H ZA, 15% LA

- (CH7*) 26,2448 (4.0%) = 26,704F(4.2%), 4608 (1.8%) 57, 0.2%p 57t

(2=l HE B7h 22% = 2.9%, 0.7%p 37t
- (LH=Q &7} 25,675H = 259309, 255H S7 1.0% 57t
- (2I=9 B7} 5698 = 7749, 205 Z7I, 36.0% 7t

- (B58) 22,372H(3.4%) = 21,463H(3.4%), 909H (4.1%) LA, HIE EH

(2=l HE 371 2.3% = 2.5%, 0.2%p 57t
- (LH=QI ZhA) 21,854H = 20,926F, 928H ZtA, 42% LA
- (=Q 571 518 = 537%H, 198 =7}, 3.7% &7}

- (B4h 42,2858 (6.4%) = 39,2118 (6.2%), 3,074B(7.3%) &L, 0.2%p AL

(=0 HE ) 22% = 2.2%
- (Lf=0Q1 ZEA) 41,3648 = 38,3499, 30158 ZA, 7.
(=0l ZUA) 921H = 862FH, 59H LA 64% LA

N

3% d4&
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- (AYh 27,549H(4.1%) = 25,978H(4.1%), 1,571 (5.7%) LA, H|S EH

(=0l HE 371 3.0% = 3.3%, 0.3%p =7t
(= ZA) 26,709F = 251279H, 1,582H A 59% A
(=92 =71 840 = 851&, 1Y =7} 1.3% &7}

- (E4h 11,870 (1.8%) = 10,859H(1.7%), 1,011H(8.5%) &=L, 0.1%p HLE

- (2/=0l HE 57 5.7% = 8.3%, 2.6%p =7t
(L=l ZA) 11,196 = 9,958F, 1,238H ZA, 11.1% HA
(=R BT 674H = 901YH, 2279 57} 33.7% 57}

- (BF) 17,843H(2.7%) = 17,1558 (2.7%), 688H(3.9%)Z L, H|FZ =4

(2=l HE 371 3.0% = 3.8%, 0.8%p &7t
S (Lh=0l ZA) 17,3118 = 16,503, 808H ZA, 47% LA
(=R B71 5328 = 652%H, 120Q 57t 22.6% &7}




(M) 25,661 (3.9%) = 22,4708 (3.5%), 3,191H(124%) &HL, 04%p HL

(=0 HE 29) 2.1% = 2.1%
S (Lh=0Ql ZEA) 25,1248 = 21,995, 3,129% ZtA, 125% ZA
Q=0 ZhA) 537 = 4759, 62F ZtA, 115% LA

(HE) 18327H(2.8%) = 17,133H(2.7%), 1,194 (6.5%) L4, 0.1%p L4

- (2= HE 37H 1.6% = 1.7%, 0.1%p =7t
(L= ZEA) 18,041 = 16,835H, 1,206 A, 6.7% 44
- (= ST 286FH = 298%H, 12%H =7}, 4.2% =7}

CHE) 18777H(2.8%) = 17,149 (2.7%), 1,628H(8.7%) Z4, 0.1%p L2

(RO HIE UA) 28% = 2.3%, 0.5%p LA

C(Lh=0l ZEA) 18,2548 = 16,747, 1,507 ZA, 83% A
Q=0 ZhA) 523 = 4029, 121 ZtA 23.1% LA

- (M3B) 2,431H(0.4%) = 2,038 (0.3%), 393H(16.2%) LA, 0.1%p ZA

(=2l HE 375 13.9% = 15.4%, 1.5%p =7t
S (Lh=Ql ZEA) 2,092H = 1,725, 367H A, 17.5% ZA
S (Q=0l ZhA) 339 = 313%, 26°Q A, 7.7% LA

- (3'") 25,5408 (3.8%) = 23,103H(3.6%), 2437H(9.5%) &L, 0.2%p &HL

- (2/=0l HE 371 5.6% = 6.5%, 0.9%p =7t
- (Lh=021 ZEA) 24,101H = 21,596, 2,505% ZEA, 104% 24
- (/=921 37 1,439% = 1,5079H, 68H S} 4.7% 57}

- (B359) 14,8728 (2.2%) = 13,5218 (2.1%), 1,351H(9.1%) &=, 0.1%p &L

- (=2l H[E 37 52% = 5.5%, 0.3%p &7t
- (L= ZhA) 14,095 = 12,7799F, 1,316FH LA, 93% LA
- (=0l ZA) 777H = 7429, 35°&H LA 45% LA

- (Z3&) 17,1928(2.6%) = 16,295 (2.6%), 8978 (5.2%) &=, HIZ =H

- (=2l HE 37 33% = 3.4%, 0.1%p 57t
- (L=l ZtA) 16,623 = 15,749%, 874FH A, 53% LA
(2= H) 5699 = 546, 23F L, 4.0% dA

(M=) 4,951F(0.7%) = 4,290 (0.7%), 6618 (13.4%) &AL, HF =H

- (2I=0l HE 57 2.2% = 2.5%, 0.3%p 37t
S (LH=Q1 ZEA) 4,842H = 4,184H, 658FH ZA, 13.6% ZA
C(QFQ ZA) 109 = 106Q, 3 A, 28% LA
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T O3HXE 25340 S22 oY) FE £HE £+ U
g SAHE HAEZEXNSHEZ
<HE 10> X994 L e=Qd u|3HXt S (203 CHH| '21.0 H2}
s 2020.3 2021.3 4 S| UHl B2
= ol214 () AHI(%) ol2l4(H) FAHI(%) ol (d) | SAE(%)
A 664,279 100.0 100.0/ 634,618 100.0 100.0| -29,661 -4.5
8 | Y=ol 577.640 87.0 87.0| 547,782 86.3 86.3| -29,858 -5.2
9=ol 86,639 13.0 13.0 86,836 13.7 13.7 197 0.2
A 116,083 17.5 100.0/ 107,667 17.0 100.0] -8,416 -7.2
A2 | u=el 85,827 12.9 73.9] 78,764 12.4 73.2|  -7,063 -8.2
9=l 30,256 4.6 26.1 28,903 4.6 26.8/ -1,353 -4.5
A 40,490 6.1 100.0/ 38,343 6.0 100.0] -2,147 -5.3
olF | U=el 35,975 5.4 88.8] 34,144 5.4 89.0/ -1,831 -5.1
9=l 4,515 0.7 1.2 4,199 0.7 11.0 -316 -7.0
A 144,560 21.8 100.0] 131,269 20.7 100.0] -13,291 -9.2
27| | u=el 119,329 18.0 82.5| 106,406 16.8 81.1] -12,923 -10.8
9|20l 25,231 3.8 17.5| 24,863 3.9 18.9 -368 -1.5
A 26,244 4.0 100.0] 26,704 4.2 100.0 460 1.8
3 | w=el 25,675 3.9 97.8| 25,930 4.1 97.1 255 1.0
Q=0 569 0.1 2.2 774 0.1 2.9 205 36.0
A 22,372 3.4 100.0] 21,463 3.4 100.0 -909 —4.1
22 | u=el 21,854 3.3 97.7| 20,926 3.3 97.5 -928 -4.2
Q=0 518 0.1 2.3 537 0.1 2.5 19 3.7
A 42,285 6.4 100.0] 39,211 6.2 100.0] -3,074 -7.3
24 [ U=el 41,364 6.2 97.8| 38,349 6.0 97.8]  -3,015 -7.3
9|20l 921 0.1 2.2 862 0.1 2.2 -59 -6.4
A 27,549 4.1 100.0] 25,978 4.1 100.0]  -1,571 -5.7
2 | =9 26,709 4.0 97.0| 25,127 4.0 96.7| -1,582 -5.9
] 840 0.1 3.0 851 0.1 3.3 11 1.3
A 11,870 1.8 100.0/ 10,859 1.7 100.0]  -1,011 -8.5
M | U=l 11,196 1.7 94.3 9,958 1.6 91.7|  -1,238 -11.1
Q=0 674 0.1 5.7 901 0.1 8.3 207 33.7
A 17,843 2.7 100.0/ 17,155 2.7 100.0 -688 -3.9
2x | U=l 17,311 2.6 97.0| 16,503 2.6 96.2 -808 -4.7
Q=0 532 0.1 3.0 652 0.1 3.8 120 22.6
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2020.3 2021.3 el &2
F&HI(%) Ol =~(2) FHHI(%) E(%)
3.9 100.0 22,470 3.5 100.0 -12.4
3.8 97.9 21,995 3.5 97.9 -12.5
0.1 2.1 475 0.1 2.1 -11.5
2.8 100.0 17,133 2.7 100.0 -6.5
2.7 98.4 16,835 2.7 98.3 -6.7
0.0 1.6 298 0.0 1.7 4.2
2.8 100.0 17,149 2.7 100.0 -8.7
2.7 97.2 16,747 2.6 97.7 -8.3
0.1 2.8 402 0.1 2.3 -23.1
0.4 100.0 2,038 0.3 100.0 -16.2
0.3 86.1 1,725 0.3 84.6 -17.5
0.1 13.9 313 0.0 15.4 -7.7
3.8 100.0 23,103 3.6 100.0 -9.5
3.6 94.4 21,596 3.4 93.5 -10.4
0.2 5.6 1,507 0.2 6.5 4.7
2.2 100.0 13,521 2.1 100.0 -9.1
2.1 94.8 12,779 2.0 94.5 -9.3
0.1 5.2 742 0.1 5.5 -4.5
2.6 100.0 16,295 2.6 100.0 -5.2
2.5 96.7 15,749 2.5 96.6 -5.3
0.1 3.3 546 0.1 3.4 -4.0
0.7 100.0 4,290 0.7 100.0 -13.4
0.7 97.8 4,184 0.7 97.5 -13.6
0.0 2.2 106 0.0 2.5 -2.8
13.1 100.0 99,970 15.8 100.0 14.6
10.4 79.4 80,065 12.6 80.1 15.7
2.7 20.6 19,905 3.1 19.9 10.6
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